A. Losungen fiir Einfeldsysteme

Tabelle A.16.: Kragtrager mit Streckenlast

}714{

Randwerte:

V10 = ql V10:ql

—qlz
Mip = ——  M10:-q*142/2

@10 =0 phi10:0

w1 = 0 wi0:0

Funktionsgleichungen:

V(X1) = _L](X1 - l) Vx1:-g*(x1-1)

— —] 2
M(xl) = q(le) Mx1:-g*(x1-1)42/2

—qxl(x%—3lx1+312) .
(p(xl) = ¢ phixl:-q*x1*(x142-3*1*x1+3%142)/(6*EI)

qx% (x% —4lx1+61%)
w(xl) = ——aEr wxl:q*x1A2%(x142-4*%1*x1+6*142) /(24*EI)

Auflagerkrifte:

A= ql A:g*1

Extremwerte:

—gP
Miax = M(xl = O) = % Mmax:-q*142/2

ql* )
Wiy = W(X1 = l) = g7 wmax:q*1*4/(8EI)
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